

# SOME RELATIONSHIPS BETWEEN POLY-CAUCHY TYPE NUMBERS AND POLY-BERNOULLI TYPE NUMBERS

T. Komatsu\*, Kálmán Liptai\*\* and László Szalay\*\*\*

\* Graduate School of Science and Technology, Hirosaki University,  
Hirosaki, 036-8561, Japan  
email: komatsu@cc.hirosaki-u.ac.jp

\*\* Institute of Mathematics and Informatics, Eszterházy Károly College,  
H-3300 Eger, Hungary  
email: liptaik@ektf.hu

\*\*\* Institute of Mathematics and Statistics, Univesity of West Hungary,  
H-9400 Sopron, Hungary  
email: laszalay@emk.nyme.hu

## Abstract

In this paper, we show some relationships between poly-Cauchy type numbers and poly-Bernoulli type numbers. Poly-Cauchy type numbers include poly-Cauchy numbers introduced by T. Komatsu, and poly-Bernoulli type numbers include poly-Bernoulli numbers introduced by M. Kaneko. Both numbers are generalizations of classical Cauchy numbers and classical Bernoulli numbers, respectively.

## 1 Introduction

Let  $n$  and  $k$  be integers with  $n \geq 0$ . Let  $f_k(m)$  be a function independent of  $n$ . Define *poly-Bernoulli type numbers*  $\mathcal{B}_{k,n}(f)$  by

$$\mathcal{B}_{k,n}(f) := (-1)^n \sum_{m=0}^n \left\{ \begin{matrix} n \\ m \end{matrix} \right\} m! f_k(m), \quad (1)$$

---

**Keywords:** poly-Cauchy numbers, poly-Bernoulli numbers, poly-Cauchy type numbers, poly-Bernoulli type numbers, Cauchy numbers, Bernoulli numbers

**(2010) AMS Classification:** 05A15, 11B75

Research supported in part by the Grant-in-Aid for Scientific research (C) (No.22540005), the Japan Society for the Promotion of Science.

where  $\left\{ \begin{smallmatrix} n \\ m \end{smallmatrix} \right\}$  are the Stirling numbers of the second kind, determined by

$$\left\{ \begin{smallmatrix} n \\ m \end{smallmatrix} \right\} = \frac{1}{m!} \sum_{j=0}^m (-1)^j \binom{m}{j} (m-j)^n$$

(see e.g. [3]). Define *poly-Cauchy type numbers of the first kind*  $\mathcal{C}_{k,n}(f)$  by

$$\mathcal{C}_{k,n}(f) := (-1)^n \sum_{m=0}^n \left[ \begin{smallmatrix} n \\ m \end{smallmatrix} \right] f_k(m) \quad (2)$$

and *poly-Cauchy type numbers of the second kind*  $\hat{\mathcal{C}}_{k,n}(f)$  by

$$\hat{\mathcal{C}}_{k,n}(f) := (-1)^n \sum_{m=0}^n \left[ \begin{smallmatrix} n \\ m \end{smallmatrix} \right] (-1)^m f_k(m), \quad (3)$$

where  $\left[ \begin{smallmatrix} n \\ m \end{smallmatrix} \right]$  are the (unsigned) Stirling numbers of the first kind, arising as coefficients of the rising factorial

$$x(x+1) \dots (x+n-1) = \sum_{m=0}^n \left[ \begin{smallmatrix} n \\ m \end{smallmatrix} \right] x^m$$

(see e.g. [3]). Hence, if

$$f = f_k(m) = (-1)^m \sum_{i=0}^m \binom{m}{i} \frac{(-z)^i}{(m-i+1)^k}, \quad (4)$$

then

$$\mathcal{B}_{k,n}(f) = B_n^{(k)}(z) = (-1)^n \sum_{m=0}^n \left\{ \begin{smallmatrix} n \\ m \end{smallmatrix} \right\} m! (-1)^m \sum_{i=0}^m \binom{m}{i} \frac{(-z)^i}{(m-i+1)^k}$$

is one of the poly-Bernoulli polynomials defined in [8], and

$$\mathcal{C}_{k,n}(f) = c_n^{(k)}(z) = (-1)^n \sum_{m=0}^n \left[ \begin{smallmatrix} m \\ n \end{smallmatrix} \right] (-1)^{n-m} \sum_{i=0}^m \binom{m}{i} \frac{(-z)^i}{(m-i+1)^k}$$

is the poly-Cauchy polynomial of the first kind defined by

$$c_n^{(k)}(z) = n! \underbrace{\int_0^1 \dots \int_0^1}_{k} (x_1 x_2 \dots x_k - z)(x_1 x_2 \dots x_k - 1 - z) \dots (x_1 x_2 \dots x_k - (n-1) - z) dx_1 dx_2 \dots dx_k$$

([4, Theorem 1]). In addition,

$$\hat{\mathcal{C}}_{k,n}(f) = \hat{c}_n^{(k)}(z) = (-1)^n \sum_{m=0}^n \begin{bmatrix} m \\ n \end{bmatrix} (-1)^{n-m} \sum_{i=0}^m \binom{m}{i} \frac{(-z)^i}{(m-i+1)^k}$$

is the poly-Cauchy polynomial of the second kind defined by

$$\hat{c}_n^{(k)}(z) = n! \underbrace{\int_0^1 \dots \int_0^1}_{k} (-x_1 x_2 \dots x_k + z) (-x_1 x_2 \dots x_k - 1 + z) \dots (-x_1 x_2 \dots x_k - (n-1) + z) dx_1 dx_2 \dots dx_k$$

([4, Theorem 4]). Furthermore, if  $z = 0$  in (4), namely,

$$f = f_k(m) = \frac{(-1)^m}{(m+1)^k}, \quad (5)$$

then

$$\mathcal{B}_{k,n}(f) = B_n^{(k)} = (-1)^n \sum_{m=0}^n \left\{ \begin{matrix} n \\ m \end{matrix} \right\} m! (-1)^m \frac{(-1)^m m!}{(m+1)^k}$$

is the poly-Bernoulli number defined in [5],

$$\mathcal{C}_{k,n}(f) = c_n^{(k)} = (-1)^n \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} \frac{(-1)^m}{(m+1)^k}$$

is the poly-Cauchy number of the first kind defined in [6], and

$$\hat{\mathcal{C}}_{k,n}(f) = \hat{c}_n^{(k)} = (-1)^n \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} \frac{1}{(m+1)^k}$$

is the poly-Cauchy number of the second kind, also defined in [6].

In this paper, we shall show the following relationships between poly-Cauchy type numbers and poly-Bernoulli type numbers.

**Theorem 1.** For  $n \geq 1$  we have

$$\begin{aligned} \mathcal{B}_{k,n}(f) &= \sum_{l=1}^n \sum_{m=1}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m-1 \\ l-1 \end{matrix} \right\} \mathcal{C}_{k,l}(f), \\ &= (-1)^n \sum_{l=1}^n \sum_{m=1}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m \\ l \end{matrix} \right\} \hat{\mathcal{C}}_{k,l}(f), \\ \mathcal{C}_{k,n}(f) &= (-1)^n \sum_{l=1}^n \sum_{m=1}^n \frac{(-1)^m}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \begin{bmatrix} m \\ l \end{bmatrix} \mathcal{B}_{k,l}(f) \\ \hat{\mathcal{C}}_{k,n}(f) &= (-1)^n \sum_{l=1}^n \sum_{m=1}^n \frac{1}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \begin{bmatrix} m \\ l \end{bmatrix} \mathcal{B}_{k,l}(f). \end{aligned}$$

*Remark.* If

$$f = f_k(m) = (-1)^m \sum_{i=0}^m \binom{m}{i} \frac{(-z)^i}{(m-i+1)^k},$$

then this theorem is reduced to [8, Theorem 4.1].

## 2 Proof

Poly-Bernoulli type numbers can be expressed by poly-Cauchy type numbers. Notice that

$$\sum_{l=i}^m (-1)^l \left\{ \begin{matrix} m-1 \\ l-1 \end{matrix} \right\} \left[ \begin{matrix} l \\ i \end{matrix} \right] = (-1)^m \binom{m-1}{i-1}$$

(see, e.g. [3, (6.26)]) and

$$\sum_{m=i}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} (-1)^m \binom{m-1}{i-1} = (-1)^n n! \left\{ \begin{matrix} n \\ i \end{matrix} \right\}$$

(see, e.g. [3, (6.19),(6.21)]). Then by the identity (2) we have

$$\begin{aligned} & \sum_{l=1}^n \sum_{m=1}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m-1 \\ l-1 \end{matrix} \right\} \mathcal{C}_{k,l}(f) \\ &= \sum_{l=1}^n \sum_{m=l}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m-1 \\ l-1 \end{matrix} \right\} (-1)^l \sum_{i=0}^l \left[ \begin{matrix} l \\ i \end{matrix} \right] f_k(i) \\ &= \sum_{i=1}^n f_k(i) \sum_{l=i}^n \sum_{m=l}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m-1 \\ l-1 \end{matrix} \right\} (-1)^l \left[ \begin{matrix} l \\ i \end{matrix} \right] \\ &= \sum_{i=1}^n f_k(i) \sum_{m=i}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \sum_{l=i}^m (-1)^l \left\{ \begin{matrix} m-1 \\ l-1 \end{matrix} \right\} \left[ \begin{matrix} l \\ i \end{matrix} \right] \\ &= \sum_{i=1}^n f_k(i) \sum_{m=i}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} (-1)^m \binom{m-1}{i-1} \\ &= \sum_{i=1}^n f_k(i) (-1)^n n! \left\{ \begin{matrix} n \\ i \end{matrix} \right\} = \mathcal{B}_{k,n}(f). \end{aligned}$$

Hence, the first identity holds. Next, by the identity (3) we have

$$\begin{aligned}
& (-1)^n \sum_{l=1}^n \sum_{m=1}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m \\ l \end{matrix} \right\} \hat{\mathcal{C}}_{k,l}(f) \\
&= (-1)^n \sum_{l=1}^n \sum_{m=1}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m \\ l \end{matrix} \right\} (-1)^l \sum_{i=0}^l \begin{bmatrix} l \\ i \end{bmatrix} (-1)^i f_k(i) \\
&= (-1)^n \sum_{i=1}^n (-1)^i f_k(i) \sum_{l=i}^n \sum_{m=l}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \left\{ \begin{matrix} m \\ l \end{matrix} \right\} (-1)^l \begin{bmatrix} l \\ i \end{bmatrix} \\
&= (-1)^n \sum_{i=1}^n (-1)^i f_k(i) \sum_{m=i}^n m! \left\{ \begin{matrix} n \\ m \end{matrix} \right\} \sum_{l=i}^m (-1)^l \left\{ \begin{matrix} m \\ l \end{matrix} \right\} \begin{bmatrix} l \\ i \end{bmatrix} \\
&= (-1)^n \sum_{i=1}^n (-1)^i f_k(i) i! \left\{ \begin{matrix} n \\ i \end{matrix} \right\} (-1)^i \\
&= (-1)^n \sum_{i=1}^n f_k(i) i! \left\{ \begin{matrix} n \\ i \end{matrix} \right\} = \mathcal{B}_{k,n}(f).
\end{aligned}$$

Note that

$$\sum_{l=i}^m (-1)^{m-l} \begin{bmatrix} m \\ l \end{bmatrix} \left\{ \begin{matrix} l \\ i \end{matrix} \right\} = \begin{cases} 1 & (i = m); \\ 0 & (i \neq m). \end{cases}$$

On the other hand, poly-Cauchy type numbers  $\mathcal{C}_{k,n}(f)$  can be expressed by using poly-Bernoulli numbers  $\mathcal{B}_{k,n}(f)$ . By (1) we have

$$\begin{aligned}
& (-1)^n \sum_{l=1}^n \sum_{m=1}^n \frac{(-1)^m}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \begin{bmatrix} m \\ l \end{bmatrix} \mathcal{B}_{k,l}(f) \\
&= (-1)^n \sum_{l=1}^n \sum_{m=1}^n \frac{(-1)^m}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \begin{bmatrix} m \\ l \end{bmatrix} (-1)^l \sum_{i=0}^l \left\{ \begin{matrix} l \\ i \end{matrix} \right\} i! f_k(i) \\
&= (-1)^n \sum_{m=1}^n \frac{(-1)^m}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \sum_{l=0}^n \begin{bmatrix} m \\ l \end{bmatrix} (-1)^l \sum_{i=0}^l \left\{ \begin{matrix} l \\ i \end{matrix} \right\} i! f_k(i) \\
&= (-1)^n \sum_{m=1}^n \frac{(-1)^m}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \sum_{i=0}^n i! f_k(i) \sum_{l=i}^n (-1)^l \begin{bmatrix} m \\ l \end{bmatrix} \left\{ \begin{matrix} l \\ i \end{matrix} \right\} \\
&= (-1)^n \sum_{m=0}^n \frac{(-1)^m}{m!} \begin{bmatrix} n \\ m \end{bmatrix} m! f_k(m) (-1)^m \\
&= (-1)^n \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} f_k(m) = \mathcal{C}_{k,n}(f).
\end{aligned}$$

Note that  $\begin{bmatrix} m \\ 0 \end{bmatrix} = 0$  ( $m \geq 1$ ) and  $\begin{bmatrix} m \\ l \end{bmatrix} = 0$  ( $l > m$ ). Hence, the third identity holds.

Finally, the fourth identity holds because

$$\begin{aligned}
& (-1)^n \sum_{l=1}^n \sum_{m=1}^n \frac{1}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \begin{bmatrix} m \\ l \end{bmatrix} \mathcal{B}_{k,l}(f) \\
&= (-1)^n \sum_{l=1}^n \sum_{m=1}^n \frac{1}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \begin{bmatrix} m \\ l \end{bmatrix} (-1)^l \sum_{i=0}^l \begin{Bmatrix} l \\ i \end{Bmatrix} i! f_k(i) \\
&= (-1)^n \sum_{m=1}^n \frac{1}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \sum_{l=0}^n \begin{bmatrix} m \\ l \end{bmatrix} (-1)^l \sum_{i=0}^l \begin{Bmatrix} l \\ i \end{Bmatrix} i! f_k(i) \\
&= (-1)^n \sum_{m=1}^n \frac{1}{m!} \begin{bmatrix} n \\ m \end{bmatrix} \sum_{i=0}^n i! f_k(i) \sum_{l=i}^n (-1)^l \begin{bmatrix} m \\ l \end{bmatrix} \begin{Bmatrix} l \\ i \end{Bmatrix} \\
&= (-1)^n \sum_{m=0}^n \frac{1}{m!} \begin{bmatrix} n \\ m \end{bmatrix} m! f_k(m) (-1)^m \\
&= (-1)^n \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} (-1)^m f_k(m) = \hat{\mathcal{C}}_{k,n}(f).
\end{aligned}$$

### 3 Comments

For a real number  $q \neq 0$ , poly-Cauchy numbers, with  $q$  parameter, of the first kind are defined by

$$c_{n,q}^{(k)} = \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} \frac{(-q)^{n-m}}{(m+1)^k} \quad (n \geq 0, k \geq 1)$$

and the poly-Cauchy numbers, with  $q$  parameter, of the second kind by

$$\hat{c}_{n,q}^{(k)} = (-1)^n \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} \frac{q^{n-m}}{(m+1)^k}$$

([7]). Though the corresponding poly-Bernoulli numbers with  $q$  parameter seem to be defined by

$$B_{n,q}^{(k)} = \sum_{m=0}^n \begin{Bmatrix} n \\ m \end{Bmatrix} \frac{(-q)^{n-m} m!}{(m+1)^k},$$

but these numbers do not satisfy similar identities as in Theorem 1 unless  $q = \pm 1$ . For, in these cases

$$f_k(m) = \frac{(-1)^m q^{n-m}}{(m+1)^k},$$

which is not independent of  $n$ , unless  $q = \pm 1$ . In other words,  $c_{n,q}^{(k)}$ ,  $\hat{c}_{n,q}^{(k)}$  and  $B_{n,q}^{(k)}$  ( $q \neq \pm 1$ ) are not involved in the poly-Cauchy type numbers and poly-Bernoulli type numbers defined in this paper.

## References

- [1] A. Bayad and Y. Hamahata, *Polylogarithms and poly-Bernoulli polynomials*, Kyushu J. Math., **65** (2011), 15-24.
- [2] L. Comtet, *Advanced Combinatorics*, Reidel, Dordrecht, 1974.
- [3] R. L. Graham, D. E. Knuth and O. Patashnik, *Concrete Mathematics*, Second Edition, Addison-Wesley, Reading, 1994.
- [4] K. Kamano and T. Komatsu, *Poly-Cauchy polynomials*, (preprint).
- [5] M. Kaneko, *Poly-Bernoulli numbers*, J. Th. Nombres Bordeaux, **9** (1997), 199–206.
- [6] T. Komatsu, *Poly-Cauchy numbers*, Kyushu J. Math., **67** (2013), (to appear).
- [7] T. Komatsu, *Poly-Cauchy numbers with  $q$  parameter*, Ramanujan J., (to appear), DOI: 10.1007/s11139-012-9452-0.
- [8] T. Komatsu and F. Luca, *Some relationships between poly-Cauchy numbers and poly-Bernoulli numbers*, (preprint).
- [9] D. Merlini, R. Sprugnoli and M. C. Verri, *The Cauchy numbers*, Discrete Math., **306** (2006) 1906–1920.